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I tossed a coin 18 times and got 4 heads.
Consider whether the coin is made correctly.

AN

it

B
S

%
A
oF
3
(e}
—
DO
w
N

T o

P ) 1 2 3 4 |o--| B

JE
=
~
=
N

0.002 | 0.018 | 0.070 | 0.164 | 0.25 1

%

G| O 0 0 |0.003]0.012 1

ok
&
=

el e <
FiEf L2 TELS/fEbR TRy &5,
Let the null hypothesis be "not made correctly".
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0+ 0+ 0+ 0.003 + 0.012 = 0.015
The probability of 4 heads or less is 0.015.
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0.05 > 0.15 at a reliability of 95%.
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I can't say it's not made correctly, so I can say it's made correctly.
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. . 0{91{< 0.15 at a reliability of 99%.
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So it cannot be denied that it is not made correctly.
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We conducted a questionnaire survey of people to find out which o e
(o the ke protopes A and 1 tases better. SREL T 1ol LA T T SRR

Consider whether A is more better with reliability of 95% ?
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Let the null hypothesis be "A is more better".
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0 + 0.001 + 0.003 + 0.008 = 0.012

The probability that 18 or more people answer "A is more better"
is 0.012
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0.05 > 0.012 at a reliability of 95%.

So it cannot be denied "A is more better".

It can be said that A is more better.
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I tossed a coin 8 times and got 2 heads.
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Consider whether the coin is made correctly.
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Let the null hypothesis be "not made correctly".

BHT B0 B B0

E MN2E AT OB 3
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U B} The probability of two heads or less is 0.144.
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0.05 < 0.144 at a reliability of 95%.
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So it cannot be denied that it is not made correctly.
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We conducted a questionnaire survey of 20 people to find out which {Tj\ 'U‘J: D& ﬁ)/t A J:

of the cake prototypes A and B tastes better.
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How many people do you need to judge "A is more delicious" c
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Probability of answering "A is more delicious"
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18 or more is less than 0.001
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17 or more is less than 0+0.001 = 0.001
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16 or more is less than 0.001+0.005= 0.006
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15 or more is less than 0.006+0.015= 0.021
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14 or more is less than 0.021+0.037= 0.058
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20 people have to answer at least 15 people.(75%)
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I tossed a coin 18 times and got 3 heads.

Consider whether the coin is made correctly.

L‘%’C@ T
e I T A I N e
fez< | O [0.001 | 0.008 | 0.022 | 0.061 1

ok
&
=

»nE o

RS E TELELRTHARL] L5,

Let the null hypothesis be "not made correctly".
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0 + 0.001 + 0.006 + 0.022 = 0.029

The probability of 3 heads or less is 0.029.
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0.05 > 0.029 at a reliability of 95%.
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I can't say it's not made correctly, so I can say it's made correctly.
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We conducted a questionnaire survey of 20 people to find out which
of the cake prototypes A and B tastes better.
Find the reliability based on the number of people
who answered that A tastes better.
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